
Toute la quincaillerie requise est incluse.
Veuillez vérifier le contenu avec les descriptions ci-
dessous.
Lisez attentivement les instructions.
Conservez ces instructions pour référence future.

All required hardware is included.
Please check the contents with description below.
Read instructions carefully.
Save this document for future reference.

Assembly Guide

Computer and Accessories Supports Supports informatiques
R Line Guide d’assemblage Ligne R

R2L NO16- BPage 1/4

7D00202L

rousseaumetal.com
1-800-463-4271

RC58-21
Keyboard/mouse/monitor support
Support clavier/souris/moniteurRC58-03

RC58-61RC58-42
Laptop support
Support portable

Monitor support
Support moniteur

Electronic tablet support
Support tablette électronique

Bracket
Fixation

Monitor plastic clip
Clip moniteur en plastique

Double adjustable arm
Bras réglable double

5 16 8 allen b/ -1 olt
Boulon / -16P.CR 5 16 8

3L520201

/ "3 4

Boulons M4
M4 bolts

4x
8mm

1/4-20 nutsLock
Écrous 1/4-20autoblocant

3S1812T2
Boulons 1/4-20

1/4-20 bolts

1/2"

3A1816L2

2x 2x 2x

Hardware bag / Sac de quincaillerie

5 16 8 allen b/ -1 olt
Boulon / -16P. 5 16 8CR

3L520201

/ "3 4

4x

Boulons 1/4-20
1/4-20 bolts

1/2"

3A1816L2

4x

1/4-20 nutsLock
Écrous 1/4-20autoblocant

3S1812T2

4x

Hardware bag
Sac de quincaillerie

10 32 n l/ ylon ocknut
Écrou nylon /10 32

3S1403Z2

4x

Monitor plastic clip
Clip moniteur en plastique

Single adjustable arm
Bras réglable simple

Bracket
Fixation

Double adjustable arm
Bras réglable double

Laptop tray
Plateau portable

Hardware bag / Sac de quincaillerie

10 32 n l/ ylon ocknut
Écrou nylon /10 32

3S1403Z2

4x

5 16 8 allen b/ -1 olt
Boulon / -16P. 5 16 8CR

3L520201

/ "3 4

1/4-20 nutsLock
Écrous 1/4-20autoblocant

3S1812T2
Boulons 1/4-20

1/4-20 bolts

1/2"

3A1816L2

2x 2x 2x

Brackets
Fixations

Keyboard/mouse tray
Plateau clavier/souris

Note:
Also including velcro to attach the laptop on the tray.
Inclut aussi des bandes velcro pour fixer le portable
sur le plateau.

Electronic tablet tray
Plateau tablette électronique

Double adjustable arm
Bras réglable double

Bracket
Fixation

Boulons M4
M4 bolts

4x
12mm

Boulons M4
M4 bolts

4x
8mm

Boulons M4
M4 bolts

4x
12mm



Page /2 4rousseaumetal.com
1-800-463-4271

Adapter Assembly Assemblage de l'adapteur

The adapter is installed
behind the bottom or the
top finishing panel.

L'adapteur est installé
derrière le panneau de
finition du bas ou du haut.

3

Boulons 1/4-20
1/4-20 bolts

1/2"

3A1816L2

3x

1

3 4

2 2

1

3



4

Hooked at the top
Accroché par le haut

3

Clipped at the bottom :
Spring clips at the
back of the panel
Clippé en bas :
Clips ressorts au dos
du panneau

Page /3 4

Finishing Panel Assembly Assemblage des panneaux de finition

Bracket Assembly Assemblage de la fixation

Do not tighten screws until
each top panel is installed.
Ne pas serrer complètement
tant que tous les panneaux
du haut ne sont pas en
place.

2x
1 2"/

2 per top panel
2 par panneau du haut

Hooked at the top
Accroché par le haut1

2

1

2x

L

L

PR

PR

PL

PL

R

R

rousseaumetal.com
1-800-463-4271



Page /4 4rousseaumetal.com
1-800-463-4271

Monitor Assembly

Assemblage du moniteur

Electronic Tablet Tray Assembly

Assemblage du plateau à tablette électronique

Keyboard/mouse/Laptop Tray Assembly Assemblage du plateau à clavier/souris/portable

Laptop Tray Includes velcro to
attach the laptop on the tray.

Le plateau à portable inclu aussi
des bandes velcro pour fixer le

portable sur le plateau.

Choose the bolts length
according to your monitor.
Choisir les boulons selon
votre moniteur.

B

4x
8mm

4x 4x

Supports Assembly Assemblage des supports

Non used parts
Pièces non-utilisées

4x
12mm

Adjustable arm or a monitor bracket
depending of the proposal.
Peut être un bras réglable ou une
fixation pour moniteur selon le modèle.

4x

Adjusting the Tension of the Arm Ajustement de la tension du bras articulé

1. Remove the plastic shroud on the side of the height adjustable segment.
2. With the accessory mounted to the arm, adjust the tension screws at

the front and back of the arm as shown.

1. Enlever les couvercles de plastique de chaque coté
de la section ajustable du bras.

2. Avec l’accessoire monté sur le bras, ajuster celui-ci
à la position désirée en resserrant les vis avant et
arrière de la section du bras. 3/16"

2

2

7/16"

2

1 1

1

2

2


